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Math 115A
Name:

C\N\pe Prazen
WOU-137-SS0O

Read all of the following information before starting the exam:

e Show all work, clearly and in order, if you want to get full credit. I reserve the right to
take off points if I cannot see how you arrived at your answer (even if your final answer is
correct).

e Justify your answers whenever possible to ensure full credit.

e Proofs should be in complete sentences.

I will take points off for rambling and for incorrect or irrelevant statements.
e This test has b problems and is worth 100 points,
e Good luck!
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2 Define the linear transformation T : Po(R) — Max2(R) by

a Using B8 = {1, z, 22} as a basis for P»(R), what is the basis for the image of T, R(T)?
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b What is the dimension of R(T")?



3 Let T : R? - R3 be the Epmmw transformation defined by T'(a1,as) = (a1 + 3a2,0, 2a; — 4a3).
Let B = (e1,e2) be the standard basis for R? and let v = (e1, €2, €3) be the standard basis for
R®. Find the matrix representation of T, [T7]}.
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Plug W el of B:
T()=Tho)= (1}, o, 2)
T(R2)= T(0,1) = ( 3, 0, -u)
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4 Given a set of vectors . in a vectar space V', show that span(S) is a subspace of V.
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